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 QUEST2BBEST.COM
SINGAPORE  PRIMARY MATHEMATICS

PLACEMENT TEST 5A

   Name: ___________________




Marks: _____/100

Date  : _______________



Section A ( 40 Marks )

Questions 1 to 20 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided. 

1. What is two million, six in numerals?

(1) 20,006

(2) 200,006

(3) 2,000,006

(4) 20,000,006




(
)

2. Which of the following numbers has the digit ‘4’ in the ten thousands place?
             

(1) 39,450

(2) 457,260
(3) 554,800

(4) 643,258




(
)

3. What is the answer when 14,549 is rounded off to the nearest thousand?

(1) 14,500

(2) 14,600

(3) 14,000

(4) 15,000




(
)

4. 5.12 is _________ more than 2.3?

(1) 7.42

(2) 4.89

(3) 3.82

(4) 2.82





(
)

5. What is 4 3/8 kg in g?

(1) 4125

(2) 4375

(3) 4380

(4) 4830





(
)

6. Express 14 sec as a ratio of 1 ½ min.

(1) 7:6

(2) 7:15

(3) 7:30

(4) 7:45





(
)

7. Which of the following is not a factor of 36?

(1) 6

(2) 9

(3) 12

(4) 13





(
)




8. What fraction of 6 lb is 12oz.?

(1) ½

(2) 1/6
(3) 1/8
(4) 2/11





(
)

9. What must be added to the product of 768 and 23 to make 20,000?

(1) 37,664

(2) 17,664

(3) 2336

(4) 791





(
)

10. The value of the digit 4 in the numeral 642,770 is 3500 more than _________.

(1) 10,000

(2) 36,500

(3) 40,000

(4) 43,500




(
)

11. Chairs are being sold at $25 each. David wants to buy as many chairs as possible. If he has $360, what is the maximum number of chairs he can buy?

(1) 10

(2) 13

(3) 14

(4) 15





(
)

12. 67 ( 45 = ______ ( 5.

(1) 603

(2) 2815

(3) 3015

(4) 15,075




(
)

13. Which of the following is wrong?

(1) 1/6 ( 1/6 = 1/36
(2) 5/6 + 1/6 = 1

(3) 1/6 ( 36 = 36/6
(4) ¼ + 1/6 = 1/10
14. What is the remainder when 2885 is divided by 12?

(1) 5

(2) 4

(3) 3

(4) 2





(
)

15. Which of the following is nearest to 5 liters?

(1) 34/6 ℓ

(2) 5 ℓ 100 mℓ

(3) 4.19 ℓ

(4) 5.54 ℓ





(
)

16. Round off 49.65 to the nearest whole number.

(1) 49

(2) 49.7

(3) 49.75

(4) 50





(
)

17. Which of the following is the best estimate of 129 ( 82?

(1) 120 ( 80

(2) 129 ( 90

(3) 130 ( 80

(4) 130 ( 90




(
)

18. Find the value of 90 ( (24-14) ( 5.

(1) 450

(2) 95

(3) 50

(4) 45





(
)

19. What is the area of the triangle?


      12cm
       15cm


(1) 180

(2) 90

(3) 27





(
)

(4) 21







20. If you face north and turn clockwise to northeast, what angle do you turn through?

        North



    Northeast




      East       

(1) 45°

(2) 90°

(3) 135°

(4) 180°





(
)

Section B ( 40 marks )

Questions 21 to 40 carry 2 marks each. For each question, write the answer on the space provided. 

21. Write 9,058,740 in words.

___________________________________________________________

22. Express 54,699 to the nearest thousand. ___________

23. The value of 7 ( 8 – 9 + 42 ( 6 is _________.

24. John and Tom have 64 marbles altogether. If John has 18 marbles more than Tom, how many marbles does Tom have? __________

25. Multiply 4879 by 76. __________

26. Find the value of 5 – 2/3 + ¼. (Express your answer in the simplest form)

___________.

27. What is the quotient when 5346 is divided by 18? ___________

28. Complete the number pattern below.

42,568   ,    41,568    ,       _________      ,      39,568

29. The length of a rectangular field is 130m long. Its width is half its length. What is the area of the field? __________m2
30. Express 9 2/3 yards in feet. ________ fts

31. Father won $15,000 in a luck draw. He spent $2500 to buy a computer and 

divided the remaining amount equally among his 5 children. How much did each 

child get? ___________

32. The length of three ropes is in the ratio 3:5:7. If the total length of the three 

ropes is 60m, what is the length of the longest rope? ___________m 

33. The ratio of the number of boys to girls in a school is 8:11. If there are 33 more

 girls than boys, how many students are there in the school? __________

34. Mrs. Alice bakes 30 cookies. She keeps 3/5 of them and gives 1/3 of the remainder to her guests. How many cookies has she left? ___________

35. The rectangle and square has the same area. What is the length of the rectangle? _________ cm


Find the unknown marked angles.


36.

                            5






65°


37.






58°




 a




62°





38. Find the area of the shaded figure.


      3cm
 3cm










     3cm



















     3cm






             ___________ cm2






      3cm               3cm

39. Find the area of the figure.


 



    10cm

                                              __________cm2

            12cm 
40.
                     18cm


        A


         B  6cm

A rectangle measuring 18cm by 6cm is divided into 2 equal parts by line AB.

What is the total area of the 2 shaded triangles? ___________ cm2
Section C (20 marks)

Questions 41 to 45 carry 4 marks each. For each of the following problem sum, show your work clearly in the space provided. 

41. Mrs. Kelly baked some cookies. She gave 1/2 of the cookies to her friends and ate 1/5 of them. If she had 36 cookies left, how many cookies did she make?

42.  John took 4 days to read a book. He read 1/7 of the book on Monday, 2/3 of the remainder on Tuesday. There were 120 pages left. How many pages did he read on the first two days?

43. Mr. Smith bought 10 crates of apples. There were 24 apples in each crate. He gave 55 apples to one friend and twice as many to another friend. How many apples had he left?

44. Madeline bought 3 dolls at $11.50 each and a board game at $16.70 at a toy store. Her brother, Johnny bought some toy soldiers at $3.00 each. Their mother paid the cashier $100 for all the items and got back  $27.80. How many toy soldiers did Johnny buy?

45. Ben, Jim and Bob share some money. ¼ of Ben’s share equals ½ of Jim’s share. Jim gets 1/3 of what Bob gets. If Jim gets $120 bill, calculate their total sum of money.
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           Answer Key

1) 3

11) 3

21) Nine million, fifty-eight thousand, 
31) $2500
41) 120

      seven hundred and forty



2) 4

12) 4

22) 55,000




32) 28

42) 300

3) 4

13) 4

23) 54





33) 209
43) 75

4) 4

14) 1

24) 23





34) 8

44) 7

5) 2

15) 2

25) 370,804




35) 16

45)$720

6) 4

16) 4

26) 4 7/12




36) 70°

7) 4

17) 3

27) 297




37) 30°

8) 3

18) 4

28) 40,568




38) 9

9) 3

19) 2

29) 8450




39) 40

 10) 2

20) 1

30) 29





40) 27




    55(





y





y














 45°





4cm





8cm








